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Motivation

Q: Why are private business accounting returns dispersed?

A: BGM investigate

◦ Partial insurance for business income risk

◦ Collateral constraints limiting borrowing

⇒ Factor misallocation
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• Parameterize model of entrepreneurial dynamics

• Ensure model predicts enough dispersion in ROEs

• Quantify roles of uninsurable risk and limited borrowing



Main Exer
ise

• Parameterize model of entrepreneurial dynamics

• Ensure model predicts enough dispersion in ROEs

• Quantify roles of uninsurable risk and limited borrowing

Next, consider BGM model of business owner
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Quantitative Findings
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Surprising?

• Perhaps given

◦ Magnitudes are so large

◦ Impact of risk on saving/investment not obvious

• Perhaps not given

◦ Few sources of insurance in the model

◦ Owners have small-scale operations to avoid losses

◦ Only firm-level data used for calibration



A Look at Data from US



In Related Work

• Assembled longitudinal database of business owners

• Estimated life-cycle income profiles for 35,000 groups

• Compared similar self- and paid-employed (SE&PE)

◦ Growth and volatility patterns

◦ Determinants of entrpreneurial choice

See: On the Nature of Entrepeneurship

(Bhandari, Kass, May, McGrattan, and Schulz)



Of Parti
ular Relevan
e for BGM

• Comparisons of attached SE and PE

◦ Same employment status for 12+ years

◦ Fewer than 2 switches in status during sample

◦ No intermediate non-employment years

• Information from individual filings

◦ All income sources (plus W2s,K1s, etc)

◦ Plus related family incomes

• Information from business filings

◦ Income statements

◦ Balance sheets (if large enough)

◦ Links to employees/other businesses/other owners



Relevant Findings

• For individual i, time t, cohort c, age a, group g, estimate:

yit = αi + βg(i),t +
∑

a γ
a
c(i),g(i) + ǫit

• Find:

◦ Attached SE:

− Start out similarly to PE peers, but

− Have higher and more persistent growth

− Have losses and incomes 3 times more volatile

◦ Entrants to SE (including non-attached):

− Have lower asset income before entry

• How possible without some insurance?



Estimated In
ome Pro�les

• SE start out similarly but grow much faster



Estimated Growth

• SE rewarded for early firm-specific investments



In
ome Changes for Atta
hed SE/PE

• Volatility in SE about 3 times that of PE



Di�eren
e in Past Asset In
omes

• Past asset incomes lower for entrants



How Possible?

• Spousal wages provide insurance

• Businesses have multiple owners

• Owners have multiple businesses

• Rental/labor markets are fluid

• Debt financing not always needed

• Public listing always an option

• Paid-employment always an option



How Possible?

• Spousal wages provide insurance

• Businesses have multiple owners

• Owners have multiple businesses

• Rental/labor markets are fluid

• Debt financing not always needed

• Public listing always an option

• Paid-employment always an option

• And...there is always Mom!
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